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EX 5 & B M- R =E = = % B E
°C m./'s B bt B |f8| _E°C
Bl|SE|SI&| | 098 | 128 | 15BF | 1000m | (06~18h) [(18~3206h)| & | R | km|09BF|21EF
1151 67[11.0][N 31 |E 30 |E 2.1 N 41 |2—HEE EX A H3| 7.1 [150] 94| 68
20 116 80| 98|N 5.2 [NNW 4.0 [N 41 |SSE 144 |KW NG F3| 00|25| 36| 48
3] 159 107 [ 130 [NNW 88 [NW 90 |NW 57 [NE 242 [ & L2| o05]w0| 59| 48
4] 21.4| 95| 163 |E 21|ESE 30|SSE 6.7 |SSE 15 |[B®RE E%E H2| 83 (40| 84| 36
50226 131 | 175 [NNE 1.5 |ESE 3.0 |SSW 52 |SW 46 [iE s c Em—mm| H5| 96 |100]| 68| 20
6] 20.1 | 165 17.2 [S 6.2 [s 70 [SE 57|SSW 149 |EE 4™ AFRERE L3| o08]i50] 89| 5.1
7] 221 148 173 [SW 124 |SW 110 |SW 113 [SW 257 |B—BFM & H1| 9.7 [s00]| 72| 74
8] 19.3] 100 | 143 [N 31|SE  50([SE 3.1 (w 190 |tREs BE H1| 12.0 (400 105]| 1.8
9] 210|102 | 165 |S 52 [SSW 6.0 [SSW 9.8 [SSW 123 [BE—BE BikEE H4| 83|20 38| 24
10] 17.3 | 115 13.7 [ENE 3.1 |E 50 |E 36 INW 26 [[ERBEAME [wuswmmssnees| H1| 42 [200] 86| 7.6
11} 131 64| 98[ENE 2.1 [E 50 |E 57 |NW 36 [B—Bm £ |H1| 7.7 |400]| 74| 27
120 176| 68| 114 [ESE 21|SE 50|SSW 52 |wW 6.7 i H4| 109 [200| 81| 6.6
13l 167 74| 119 |E 2.1 |ESE 30 (s 46 [NW 7.7 |[tREE H4| 120 [s00| 86| 5.7
14] 206 | 110 [ 164 [SW 88 [SW 100 |SW 6.2 |[SSW 206 [ESE L1]| 6.7]|200| 65| 56
15] 245|162 ] 178 N 26 |E 40]s 41|SE 10 |B H3| 118 [150]| 7.3| 37
16] 21.4 ] 109 | 163 [ENE 3.1 [SSE 40|SSE 36 |SE 2.1 [E&ES g H5| 10.7 [300[ 107 | 2.0
17} 219 17.7 ] 201 [sw 7.7 [ssw 7.0|sSw 72 [sw 211 |2 i F2| 06|50 18] 38
18] 233 | 156 | 19.3 [S 36 (S 50 [s 52 |SSW 9.3 [#E BE H2| 100 [250| 58| 26
19] 189 132 | 138 [NE 3.1 |[ENE 5.0 |N 57|NW 87 |2 2 F3| 04 20| 51| 74
201 108 | 94| 88|NW 15|ENE 30 [ENE 26 |SSE 6.2 |HEAE 5l F3] 00]s00f 73] 39
21} 104 | 51| 73N 72 N 80 [NNE 2.6 [ENE 149 |l = REE 00]40]| 37| 46
22] 167 68| 115N 7.7 INNE 40 [N 46 INNW 26 |FBRE 8.7 [s00| 98| 45
23] 190 79| 138 |E 21 |s 401s 46 [SW 82 |BkES 94 |200| 82| 63
24] 18.1 [ 150 | 164 |S 52 |SSW 50 [SSW 7.2 [SSw 195 |FBsAE 00 |150| 90| 47
250 218 [ 132 172 |N 46 |E 40 |s 41 |NNE 41 |ERs4E 56 [150] 89| 5.6
26] 23.1 [ 15.1 ] 17.3|sSw 46 |Ssw 70 ([ssw 7.2]s 10.8 |FE—BEE 10.4 (200 10.1] 4.1
27| 208 | 99| 151 |W 3.1 |ESE 40 (SSE 4.1 |wNw 149 |B 9.3 300 108 | 55
28] 210 11.3] 16.1 |N 26 (s 401S 41 |WNW 10.3 |fE 12.5 (400 107 | 2.3
29] 221 [ 11.7 [ 175 [ENE 2.1 (S 30 ([SW 46 |SW 57 [[EEE4HE 11.3 [300| 36| 2.9
30] 214|180 188 s 46 [SW 11.0[ssw 7.7 [sW 170 |E—BRE 0.3 [150| 86| 50
ER25%58

x| B [ &

EXx R B M- R & x = i <] E
°C m./'s Hdo i B |f8| _E °C
BIES[=E[FH]| 09K | 128 | 158F [ 1000m | (06~18h) |(18~306h)| & | B | km|[09EF[21EF
11179 112 | 138 [NNE 36 [ENE 7.0 |E 41 |NE 113 |2—HERE m—BE H3| 40|15]| 74| 46
2] 192 97| 134N 31|NE  20|(s 36 |W 5.1 |BE—BF/R EraE—w| H3| 68|30 78| 75
3| 184 | 11.0 | 144 [N 36 |E 30|SSE 57 |NW 77 [B—K2 H2| 93|40 87| 47
4] 207 | 112 158 |E 31(s 30 [SSE 46 [NNW 15 |B Ha| 125(30| 89| 38
5| 220 135 | 174 |E 2.6 |[ESE 30([sw 57 [NNw 1.0 |B H2| 11.7[ 30| 81| 52
6] 246 | 148 196 [SSW 52 [sSw 70|sSwW 77 |SW 82 [wa-me=z meas Hal 120 15] 91| 32
71 206 | 138 | 15.7 [NNW 7.7 [N 80 [N 82 |INW 3.1 [iE H1| 128 |40 107]| 7.0
8l 21.1| 91| 157N 3.1 [SSE 30 (SSW 52 [NNW 7.7 |lREE H3| 129 (40| 90| 14
9l 241 127 | 188 [SSE 26 [SW 5.0 |SSW 4.6 [NNE 1.5 |[iREE H4| 128 30| 51]-32
10] 26.8 | 15.7 | 21.5 [NNW 1.5 [ESE 2.0 |SSW 4.6 |SE 15 [E—B505 H4| 70([25]| 15]|-02
11 20.1 | 180 [ 189 [sw 52 |wsw 1.0 |wsw 36 |ssw 11.3 |[f L2| oof1of| 18]-03
12| 250 16.1 | 19.2 [E 21|ESE 30S 2.6 N 57 |BERAE H2| 104 (30| 68]-22
13| 24.1 | 168 | 198 [S 26 |SSE 60 [S 17 |SW 72 [EE2—wEE H5| 67| 8| 11| 70
14| 275|170 | 209 [ENE 15 |E 20 [SSw 36 |NW 72 B H2| 120 (10| 34| 05
15] 24.8 | 17.4| 202 [ESE 2.1 |S 40 s 6.7 [SW 6.7 | B4 Ha| 88| 8| 43| 6.1
16] 25.0 | 175 196 [N 26 [ESE 30 [E 46 INE 72 |E%—HR 62|15 47| 25
17| 226 | 135 [ 17.2 |E 3.1|ESE 40 (s 41 [NNE 8.7 B8 122| 20| 74| 14
18] 240 | 156 [ 19.3 [SSW 4.6 [SSW 50 S 6.7 3 86| 25| 74| 65
19] 229 | 170 [ 193 [SSW 52 [sw 50]s 5.2 59| 30| 60| 8.1
20] 20.2 [ 159 | 18.3 |N 3.6 [N 30 [N 2.1 00| 2| 43| 38
21] 266 [ 19.4 | 22.1 |E 26 |E 40 |SSE 5.7 6|2 75| 15| 62| 2.1
22| 265 | 18.8 | 206 |E 26 |SE 40 ([sSSW 4.1 (s 4.1 |BE— H2| 106 | 10| 46| 3.7
23] 249 | 203 | 215 |[ENE 3.1 |ENE 4.0 |ESE 46 |NE 4.1 |— H3| 102 | 20[ 65| 39
24] 267 174 | 216 |WSw 1.5 |SSW 50 |SW 57 |SSW 1.5 [|REE BBERE H3| 127 | 30| 70]|-08
25| 230 [ 147 | 185 |NE 2.1 |ESE 2.0 [SSE 3.6 |Calm 0.0 | H3| 48| 15| 82| 33
26] 259 [ 182 214 [s 31 (s 401S 46 |wsw 36 H5| 88| 15| 69| 52
27| 25.7| 184 | 213 |SE  26|S 30 [SSW 46 |SSE 46 H5| 78| 20 90| 7.2
28] 249|194 214 |SSE 4.1 |SW 50 ([SSW 3.1 |ssw 72 F2| 22]25| 97| 64
29] 250  19.8 | 21.3 |SSW 5.7 |SSW 6.0 [S 7.2 [Ssw 134 F2| 13| 15| 80| 5.1
30] 220 | 19.4 | 209 |s 6.2 (s 60 [s 6.2 [SW 185 |FsRE F3| oo| 5| 58| 46
31] 258 18.7| 218 |E 5.7 |E 6.0 |E 5.7 INNE 129 |FE#FEABE|EE H3| 98| 30| 70| 14
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°C m./'s B =wH B (FB_E°C

BIEE[&E[FH| 00 | 12FF | 15BF | 1000m | (06~18h) [(18~3206h)| & | B |km|[00BF[21EF
11229 169 195 [E 26 |E 6.0 |E 41 [NE 98 |2—BE H3| 70| 15| 62| 26
2| 225|169 | 184 [NNE 26 [ENE 50 |E 57 |NE 5.1 |BkEE H3| 76| 15| 71| 18
3| 245|148 | 187 |E 2.1 |ESE 30 (s 31N 5.7 | 2% H3| 82| 15 30| 4.1
4] 278 | 175|217 |ENE 15|SE 40 ([SW 52 [ENE 3.1 |#REs H3| 132| 6| 43| 40
5] 266 186 | 220 [sSW 21 s 50 [S 6.7 |SSW 87 |[E%REE H5| 112 15| 41| 38
6] 242 192 | 215 [SSE 15[SSE 3.0[SSE 4.1 S 51|28 F3| 07] 20 70] 6.1
7] 243 | 192 | 202 [ENE 3.1 |E 5.0 |[E 57 [ENE 57 |RgBE—HE2|E2—BNR L3] 39]200f 80| 55
8] 259 | 185 215 [N 36 |E 30 (s 41 |NNE 6.7 |[BE—HZ R —BEE| H3| 63| 20| 74| 25
9 274 19.2 | 22.9 [SSE 2.6 [ESE 4.0 |SSW 36 [WSw 5.1 [EZ2—pE H3| 88| 15| 66| 44
10] 26.4 | 20.6 | 22.1 [SSE 2.1 |S 50 [wsw 3.1[SE 21 |2 F3] 19100 61| 7.3
11] 21.9 | 19.7 | 204 |N 21N 30 |[ENE 15|ESE 82 |l—HZ F3| 00| 15| 83| 42
12| 223|187 20.2 [N 57 [N 40 |N 36|SE  87|@ F3| oo 8ol 25| 40
13| 21.6 | 206 | 20.9 [NNE 4.1 [NNE 4.0 |[NNE 4.1 [E 11.8 |/ L3| oo| 3| 44| 13
14] 26.6 | 202 | 226 N 52 [N 20 |E 36 [ESE 62 |REE L3| 13| 5| 35| 38
150 30.0 | 21.7 | 248 [ENE 15]S 20 [SSW 3.1 |SSW 3.1 |ER&HE F2| 72| 5| 71| 58
16] 25.1 | 21.1 | 22.3 [N 36 |E 30 |E 31 [NNE 77 [RRE F3| 41] 20 56| 22
17] 29.0 | 20.7 | 236 [E 31|ESE 20|SE 3.1 |N 2.1 | 2—B5RE H3| 79| 10| 48| 36
18] 30.3 | 228 | 260 [SW 46 [SSW 50 |SSW 3.1 |wsw 6.7 [EE F1| 56| 15| 51| 33
19] 26.8 | 244 | 254 [SW 124 |SW 90 |SW 98 |SW 242 (2 F2| 00| 15| 48| 24
20] 23.1 [ 206 | 212 |SW 52 |SW 30 ([sSw 46 [sw 5] F3] o0o0] 15| 40| 48
21] 232 [ 196 | 21.0 [N 10 [NNE 10 (s 15N [ F3| oo 15[ 53] 47
22| 260 | 18.0| 21.7 |E 10s 50 [s 46 |N £ H3| 74| 25| 40| 1.9
23] 273 [ 19.7 | 23.1 [N 31 |E 40 [ESE 36 |SE 2 H5| 7.1 10| 65| 45
24] 27.1 | 20.1 | 228 |N 3.1|E 30 [ESE 36]S £ F3| 46| 10| 42| 46
25] 266 | 21.1 | 232 |E 41|SE 20 |wW 2.6 |ENE H3| 10| 7] 85| 55
26] 225 208|209 [sw 10[SE 20 [NNE 15]S L3| oo 12 71 39
27] 265 | 183 | 22.2 N 52 |ENE 30 |E 5.2 |NE H3| 101 | 25| 77| 32
28] 26.1 | 18.8 | 215 |E 3.1 |ESE 20 (s 2.6 [ssw F3| 27| 10| 62| 48
20] 279 | 207 | 232 |E 31 |E 30(SE  41]s F3| 45| 15| 69| 35
30] 280 | 21.4 | 235 |sSW 46 |SW 40([Sw 52 |ssw H3|] 95| 30| 60| 50
TE25%7A

x| B [#H] =

EXx 5 R B [ - B & - E

°C m./'s Ho B |f8| _E °C

Bl&s[=E[FH] Ok | 12F [ 158 | 1000m| (06~18h) 2| F | km[09BF[21FF
1] 255 | 21.3] 229 [s 3.1|SSE 40 |[s 36 s 5.1 |2 F3| 16] 20| 77 44
2| 27.7| 200 | 233 [ESE 26 |E 40 |SSE 46 |SE 2.1 |EERES H5| 11.1| 20[ 78] 50
3| 262 | 213 | 232 [s 6.2 |SSW 80 [SSW 6.2 [SSW 129 |4 F1| 13] 25| 85| 63
4] 258 | 225 | 240 |s 46 |SW 50 ([sSw 57 ([sw 180 |4 E F1| 04 30| 58| 44
50 27.2 | 23.3 | 25.2 [SSW 7.7 |SSW 100 |SW 6.2 |SW  26.7 |FERE F1] o1 100 57]-12
6] 312|245 272 [ssw 72 |sw 100|sw 57 |wsw 149 [2—mE H4| 78| 20| 42258
71 328|251 | 282 (SwW 62 |Sw 80 |SSW 41 |sSw 3.1 [BE H4| 131 | 30| 56| 3.6
8] 347|247 28.7 [ESE 26 [ESE 30|SSE 3.1 |NW 10 [BE—EE Ha4| 109 | 10| 71| 33
9] 339|251 284|NE 10([SE 30]S 36 |INW 2.1 (65 H4| 118 [100] 48| 32
10] 33.6 | 25.3 | 285 [ESE 2.1 |SSE 4.0]S 41 [NW_ 3.1 |BEREE H4| 112 | 15| 7.9]|-03
11] 335 264 | 293 [E 31|SSE 40]s 41 [WNwW 41 B2 H4| 113 10| 49| 24
12| 344 | 266 | 294 [ESE 2.1 |SSE 40S 52 [wsw 3.1 |EE—mHE H4| 122 6| 33| 16
13| 33.3 | 26.0 | 29.3 |E 15 |ESE 20 S 2.6 |WNW E% R Ha| 29| 15| 44| 36
14| 335 26.2 | 28.7 |E 26 |E 40 |ESE 2.1 |NW 2 Ha| 52| 5| 31| 44
15] 35.3 | 25.3 | 28.2 [N 3.1 [ENE 4.0 [N 5.2 [wNw H3| 64| 10| 46| 03
16] 29.1 | 22.3 | 246 |E 36 [ESE 30 [E 3.1 [N H3| 34| 20| 6.8]220
17| 28.8 | 22.1 | 244 |E 2.1|SSW 30 ([SSE 52 |w F1| 14] 20 38| 13
18] 33.0 | 230 | 27.9 [SSW 4.1 [SSW 20 |SSE 46 [SW Ha4| 88| 20| 60| 49
19] 300 ] 22.7| 25.2 [E 41 |E 50|S 2.1 |NNW H3| 106 | 35| 80| 1.6
20| 270 [ 21.4| 237 |E 26 |E 40 |E 4.1 |NNE H3| 69| 20| 64| 14
21] 285 [ 209 | 24.1 [ESE 2.1 |E 20 [s 3.1 [wnw H3| 78| 20| 33| 14
22] 290 | 232 | 255 |s 2.1|SSE 50 [sw 4.1 [wnw F1| 15| 15[ 228 35
23] 32.1 | 25.0 | 26.7 |E 15 |SSE 3.0 |SSW 4.1 [NNW F2| 40| 10| 54| 23
24] 259 | 236 | 245 |SSE 3.1 |SSE 30 [SSE 4.1S F2| oo 15| 38| 23
25| 295 [ 23.8 | 259 |E 2.1 [NNW 20 [s 3.1 |E £ F2| 27| 6| 40| 41
26] 31.9 [ 240 271 [s 26 (s 20 [SSE 46 [S 21 |8 se—mm.zees| L1] 3.9([ 20 68| 4.2
27| 32.1 [ 22.2 | 269 |SSE 15|SW 50 S 41|SSW 72 |[BE—HE2 sam. maa5| HA| 82| 15| 82214
28] 30.7 [ 222 | 26.2 [N 15[SE 20 |SSE 36 [NNW 2.1 {EEr4lE Bram™m |H4| 80| 20 53| 34
29| 26.6 | 240 | 255 |[SSE 15|SSE 30 (|SW 36 S 82 |Hk—HE F2| oo| 8| 42| 44
30| 306 | 245|269 N 3.1 |ESE 20 [E 15N 62 |E S 355] F2| 17| 5| 51| 24
31] 29.9 [ 246 | 26.4 |[ENE 3.1 |E 30|SE 21 |WNwW 31 |Z £ F2| o6| 8| 56| 43
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x| B [#H] %
ER KR B |- & E x = | ' iE
°C m./'s B =w"H B (FE_E°C

BIEE[&=E[FH| 00 | 12FF | 15BF | 1000m | (06~18h) [(18~3206h)| & | B |km|[00BF[21EF
11317 248 273 |ESE 15|NE 20 [E 26 [SW 41 |2 4m—EE|[2—BEm F2| 53] 4] 42| 16
2| 286|235 | 253 [ENE 26 [ESE 30|SE 21 |NW 51 | 34| 15| 19| 26
3| 30.4 | 23.1 | 25.8 |E 2.1 |ESE 30 (s 36 |SSE 2.1 |ZmrarE 56| 15| 59| 6.1
4] 311|239 270]s 15|SSE 50|SSW 3.1 s 31|28 35| 15| 91| 49
5] 326 | 259 | 285 [SSW 6.2 |S 50 [s 6.2 [SSW 87 |B—KE 99| 25| 92| 6.1
6] 31.4] 265 | 282 [SwW 36 [sSw 40|SSE 26 |sSSW 7.2 [EEEAT 1.3 20| 79| 49
7] 341|253 290 [NE 15 |ENE 50 |E 46 [NNE 4.1 |HREE 123 | 20| 40| 28
8] 337|264 | 292|NE 10([SE 40|SSW 46|SE 10 [EE 94| 15| 57| 52
9] 342|266 | 30.1 [SSE 1.0 (S 401|S 46 |SSW 72 |BkES 101 8| 48| 21
10] 36.7 | 27.6 | 31.7 [ESE 2.1 [ESE 3.0 ]S 2.6 [N 2.1 B2 10| 5 63| 3.7
11] 37.4 | 284 | 322 N 26 |[ESE 30]S 41 |w : 96| 8| 51| 08
12] 35.1 | 28.3 | 30.8 [N 3.1|E 50 |[ESE 2.6 |ENE 95| 10| 67| 47
13] 336 | 253 | 29.1 [N 2.1 |E 40 |E 3.6 [ENE 96| 8| 63| 36
14] 346 | 265 | 29.2 [ESE 26 |E 30 [ssw 4.1 [sw 108 | 8| 63| 5.1
15] 342 | 254 | 29.0 [WNW 1.5 [SSE_ 4.0 |SW 57 |SW . EE 103 | 15| 53| 3.9
16] 340 ] 266 | 29.2 [SwW 3.1 [ssw 40]s 52 s 7.2 B EERE H5| 78| 15| 56| 33
17] 32.8 | 26.2 | 289 [SW 46 [SSW 50 |SSW 52 [SW 72 |E2%rarE | EE4EE |[H5]| 103| 20| 61| 53
18] 33.2 | 26,5 | 29.3 [SSW 5.7 [SSW 6.0 |S 57(sw 72 |E & H5| 125 | 30[ 79| 49
19] 342|269 | 297 [sw 36 (S 50 [s 57(sw 31 |E i H5| 124 | 20 81| 62
20] 33.9 [ 27.2 | 29.7 |SSW_ 46 |S 6.0 [SSW 4.6 |SSW 7.2 |HEKARE ERRE H5| 104 | 40| 76| 5.6
21] 33.7 [ 26.9 | 29.1 [N 3.1|E 30|SE 26 |NNW 3.1 |B—msm. BssS [B—wm. Sew5| F2| 38| 20[ 48| 36
22| 32.7 | 2555 | 285 |E 26 |ENE 30 [ENE 26 |[NW 41 |2 s |H3| 62| 8| 39| 44
23] 327 | 275 | 277 |E 10 |[ESE 20 |NE 05 |SSW 3.1 |2x—mm. mews F1| 06)] 10f 61| 27
24] 32.1 | 246 | 278 |E 05 |NNW 1.0 [S 26 [NW 98 |2—BFF F2| 10] 20| 18] 50
25| 26.4 | 218 | 242 [ENE 15|ESE 20 |[ENE 1.0 |SSW 4.1 [WE4A 2 F3| 01| 15| 73| 05
26| 288 [ 225 | 25.7 N 3.1[SSE 20 (s 2.1 [NE 62 |2—B5EE H3| 34| 30| 75| 5.1
27] 296 | 196 | 24.4 N 41N 20 [SSE 4.1 |ENE 82 |B H3| 106 | 30[ 7.1| 44
28] 32.1 | 22.3 | 26.6 |N 15|ESE 3.0]S 3.1 [NNW 3.1 |BE H3| 11.9| 30| 58| 42
29] 312239 274|W 10|SW 50(SSW 57]S 3.1 | H5| 82| 15| 61| 44
30| 346 [ 268 | 302 |SW 72 |SW 80 (|SW 6.2 |SW 98 [EEKE H4] 103 | 25| 32| 25
311 33.7[ 269 ] 295|sw 31|Sw 60 [Ssw 88 |ESE 3.1 |E H4| 114 20| 56| 2.3
ER25%9A
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EX om B M- R =E = = | B E

°C m/'s He wiE B |2 _E °C

BIEE[EE[FH| 09 | 12FF | 158 | 1000m | (06~18h) [(18~3206h)| & | R | km|[00BF[21EF
1] 343|276 ] 298|sSW 62 |SW 6.0 [SSw 46 |w 5.1 |BE EHE 2 Ha| 110 25| 6.4]-0.1
2] 326 | 254 | 283 [SSE 26 |S 60|SW 72|SW 87 |B—KZ2 & H4| 109 | 15| 54| 56
3| 335|264 | 28.7 [s 36 |SSE 40 s 52 |SSW 82 |k %M H5| 87| 30| 78| 47
4] 308 | 23.7 | 27.1 |SSE 4.1 [SSE 50 [S 7.2 [SSW 11.8 |iges 4 B—B5 [mesam. B> | F2| 39| 20 47| 47
5] 28.1 | 24.8 | 265 [S 3.6 [SSW 3.0 [SSW 2.6 [SSW 11.8 |xmm—mm. mze> L3] 1.7] 15[ 49| 35
6] 28.4 [ 247 256 [NNE 3.1 [NE 30 [ENE 4.1 |SSE 31 |2—HEE F3| 23] 15| 55| 28
7] 29.4| 234 | 260 [NE 1.5 [NNE 20 |E 26 |SE 1.0 |2%EE F2| 47| 12| 65| 43
8] 299 | 244 | 25.1 [SSW 46 [SW 6.0 |N 46 |SW 108 |EMAT F2| o6]| 15| 56| 35
9] 278 | 215 240 [N 31|E 40 |E 5.2 [NE 72 |E—BREE H3| 64| 25| 64| 42
10] 26.9 ] 22.1 | 241 [NE 21 [E 40 |E 31|SE 21 [ZH4E F3| 08| 20 65| 41
11] 26.3 | 21.8 | 238 [N 41N 40N 3.1|E 6.2 F3| 03] 12| 52| 5.1
12] 31.3 ]| 225 26.1 [N 21|ESE 20|SSE 26 |NE 2.1 H3| 114 25| 67| 48
13| 315|238 | 27.1 |E 15 |E 20 [ESE 36 S 6.2 H3| 81| 10| 65| 30
14] 312 254 | 275 [E 2.1 IN 20s 26 |[ESE 2.1 F3| 22)| 25| 72| 44
150 306 | 228 | 262 (W 3.1 |N 30 [SSE 5.2 [SSE 18.0 T 11| 3] 37| 48
16] 28.4 | 259 [ 260 (S 144 [ssw 120 |sw 57 [SSE 350 T o1 5] 67] 5.1
17] 2741 192 | 229 [NE 26 |E 40 |E 36 [wsw 1.0 H3| 11.7| 40| 47| 28
18] 27.6 | 19.0 | 22.9 [N 36 |E 50 |E 46 [NE 82 H3| 116 | 30| 54]|-08
19] 282 | 188 | 22.9 [N 36 |E 40 |E 41 |NNE 5.1 H3| 114 | 30| 49| 00
20| 29.0 [ 19.6 | 24.1 [NNW 1.5 [SSE 4.0 [S 52 [Ssw 82 H5| 11.3| 20| 60| 47
21] 29.7 [ 209 | 248 |N 26 [ESE 30 [SSE 4.1 [ssw 3.1 H5| 11.1| 20| 51| 47
22] 304 [ 21.9 | 25.0 [N 21 |E 30 |ENE 3.1 |NE 2.1 H3| 85| 20| 51| 38
23] 242 | 203 | 215 |N 3.1 |NNE 40 ([NNE 46 |NE 87 |2 F3| 16| 25| 75| 54
24] 265 | 16.9 | 22.2 [N 6.2 IN 7.0 IN 36 |SE 82 |2 F3| 43| 20| 19| 42
25| 238 [ 21.2 | 226 |N 4.6 [NNW 4.0 [N 4.1 |SSE 8.2 F3] 00| 2 57| 44
26] 239 [ 228 | 21.8 [N 77 INNE 40 [NE 31[NE 170 (2 F3| 14| 25| 54| 69
27| 22.9 | 16.7 | 19.4 |N 46 |E 50 |E 52 [NNE 72 H3| 114 | 40| 74| 36
28] 247 15.1 | 19.9 N 36 |[ENE 30 |E 52 |SE 41 H3| 83| 40| 70| 57
29] 26.1 | 19.2 ]| 218 |N 41 |ENE 20 [E 41N 1.0 H3| 70| 30| 7.1| 41
30] 258 | 17.8 | 21.8 N 52 INNE 30 |E 46 [INNE 2.1 H3| 52| 30| 84| 49
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x| B [#H] %
ER KR B |- & E = | ' iE
°C m./'s H B (FE_E°C
B|SS[FE[FH| 09k | 12FF [ 158 | 1000m (18~2206h)| & | F | km|O9FF[21HF
1] 229|186 21.7 [N 46 INNE 3.0 |N 36 |[ENE 5.1 L] F3| oo 15[ 32 42
2| 26.8 | 206 | 22.8 [N 6.7 INNW 7.0 |[NNW 3.1 |[NE 108 EE—ERE T| o6 5 40| 18
3] 28.9]| 21.9| 242 [ENE 21 |NE 30|ENE 46N 41 mEAE H3| 82| 25| 46| 6.3
4] 207 17.9| 180 [NNE 2.1 [N 30 |N 41 [ENE 98 |2 5 F3| 00| 20| 39| 24
50 192 ] 154 [ 17.7|N 6.7 N 6.0 |N 41 |E 15.9 F3|] 00][30] 16| 09
6] 254 | 188 215 [N 26N 30 |E 31 |ESE 2.1 |2—mE E—H F3| 33]100] 30| 36
7] 27.1 | 20.7 | 230 |N 31 |ENE 10 |E 21 [ESE 2.1 |EFAMEE|EELE H3| 39| 10[ 53| 29
8] 28.7 | 21.7| 245 [ssw 41|sw 50]S 46 |SW 98 |FEEREE £ H5| 81| 30| 42| 36
9] 28.1 | 23.7| 254 [SSW 7.2 |SSW 10.0 |SW 9.3 |SSW 21.1 |2k & I L1| 73| 40| 74| 26
10] 28.9 | 23.1 | 24.9 [N 2.6 |ENE 40 [ESE 3.1 [ESE 82 |HiEE H4| 58| 25 59| 44
11] 28.7 | 21.6 | 24.9 |[SSW 52 [SW 7.0 [SSW 7.7 [SSW 180 [BB—HE L1]| 82] 20 19| 23
12| 308 | 244 | 257 [SW 52 [SW 40 |SSW 57 |WNW 6.2 |HREE H1| 106 | 30[ 67| 3.1
13] 26.0| 174 | 210 N 52 |NW 30 (s 36 |NW 87 |ME H3| 99| 30| 68| 42
14] 248 15.7| 203 [N 3.1 |ENE 30 |E 31 |SSE 87 |BEH—HBE H5| 82| 40| 65| 35
150 20.3 [ 17.9 | 178 |N 36 N 5.0 |N 57 |SSE_ 82 [fi—HK= T ] 00| 15| 27| 40
16] 25.8 | 160 | 199 [NW 118 [SW 6.0 [NNW 8.8 [NNW 37.0 [sesrz—sm xaens [ T | 38 30 56| 52
17| 206 | 159 | 17.7 |N 52 |E 30 [E 36 [NNW 3.1 |BEFERE 68| 30| 85| 84
18] 204 | 155 | 175 [N 36 |NE  20|NE 26 |E 3.1 |2 48| 30| 63| 53
19] 184 148 | 159 [N 52 |N 6.0 |N 72 |E 41 |2EAEH 05| 25| 63| 3.1
20] 15.7 [ 142 | 147 |N 8.2 N 7.0 IN 5.7 [ENE 129 | XM 00| 4| 42| 04
21] 21.1 [ 153 | 180 [NNE 2.6 [INNE 20 [ENE 26 [NE 3.1 |2—B5E 1.8 (250| 36| 63
22] 196 | 178 | 182 [N 36 |NNE 20|NE 31|NE 72|22 00| 30| 77| 48
23] 193 [ 157 17.2 N 26 |NNE 30|NE 3.1|ENE 62 |2 00| 30| 76| 46
24] 168 | 152 | 15.7 N 52 |N 5.0 |N 52 |ENE 82 |2H4m 00| 25 38| 23
25| 20.1 | 153 [ 17.6 [N 31N 3.0 |N 3.1 |SSE_ 98 [fi—HK= 00| 2| 29| 26
26] 172 144 | 150 [N 57 |NNE 60 |NE  3.1|N 139 |FkE oo| 8] 43| 26
27] 207 [ 122 | 162 N 26 |N 7.0 IN 52 [NW 129 |B 97| 30| 49| 04
28] 194 [ 122 | 16.2 N 31|E 40 [ENE 2.1 [SSE 3.1 |#& 95| 20 45| 1.3
20] 154 [ 128 | 140 [N 2.1 |IN 30 |N 3.1 [SSE 00| 20| 25| 26
30] 208 | 144 | 17.4 N 2.6 |[ESE 20 |ESE 2.1 |wsw 54| 30| 42| 37
31 211 [ 129 [ 17.1|N 2.1 |E 30|SE 15N 75| 15| 43| 10
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